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1 Define what is meant. by the following terms:
* linear program;

¥ feasible region of a linear programming problem.

The standard weight of a special purpose brick is 5 kg and il contains two basic
ingredients B; and B,. B, costs Rs. 5 per kg and B costs Rs. 8 per k. Strength
considerations dictate that the brick contains not more than 4 kg of By and a
minimum of 2 kg of By. Since the demand for the product is likely to be related
to the price of the brick, find the minimum cost of the brick satisfying the ahove
conditions by using the graphical method.

“
2 Use the Simplex method to solve the following linear programming problem:
Maximize 7 = 2x) + 3x3 + 43, subject to the constraints: &

3y + 2y + day < 600,

20y 4+ 4oy + 2a3 > 48(),

271 + 3x9 4+ 33 = 540, Ty, Ta, T3 = 0.
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. Briefly explain the Vogel’s approzimation method.

Use the Revised Simplex method to solve the following linear programmig

Maximize Z = 2z + z, subject to the constraints:
3xy + dxs < 6,

6:1:1 - KiD) g 3« X, Z 0

A company has four warehouses and six stores. The warehouses altoge
supply of 22 units of a given commodity. Individual supplies at war
and 4 are 5, 6, 2 and 9 units respectively. The six stores altogether neel

the commodity. Individual requirements at stores 1, 2, 3, 4, 5 and 6

i to store j in rupees is given in the table below.

Stores
Warchouses |1 |2 |3 [4 |5 |6 |
1 91121 916 [9110
2 T3 LT {710 @
3 6|5 |9 (11|31l
4 6| 8 | 11] 2 ! 2110

Find, how the commodities should be shipped from the warehouses foll

order to minimize the transportation cost by using Vogel’s approximai

Briefly explain the Hungarian method for solving assignment problems:
Five wagons are available at stations 1, 2, 3, 4 and 5. These are 1¢g
stations I, 11, TT1, IV and V. The mileages between various stations aref

table below. e
Stations | T | I | T | IV |V

1 1005 9 18114
2 13196 12|14
3 3124|415
4 181911217 |15

) 1116]14|19]10

Find, how the wagons should be assigned to a station so that the

covered is minimized.



. Find the maximum flow for the following network by

Ea) intuitive technique;

(]3) labeling technique.




